

Multiply by 10^{-2} (A)

Find each product.

$12 \times 10^{-2} =$

$54 \times 10^{-2} =$

$50 \times 10^{-2} =$

$44 \times 10^{-2} =$

$95 \times 10^{-2} =$

$94 \times 10^{-2} =$

$79 \times 10^{-2} =$

$71 \times 10^{-2} =$

$32 \times 10^{-2} =$

$70 \times 10^{-2} =$

$79 \times 10^{-2} =$

$86 \times 10^{-2} =$

$32 \times 10^{-2} =$

$76 \times 10^{-2} =$

$96 \times 10^{-2} =$

$64 \times 10^{-2} =$

$65 \times 10^{-2} =$

$80 \times 10^{-2} =$

$6 \times 10^{-2} =$

$82 \times 10^{-2} =$